Compléte :

4x10=40

7x10=70

5x10=50

5x10=50

10x7=70

8 x 10 =80

12 x 10= 120

80 x 10 = 800

57 x10 =570

3x10=30

62 x 10 = 620

11 x 10 =110

Trace le cercle de centre E qui passe par les 4 sommets

du carré :

Ecris les lettres des verres du plus petit au plus grand :

o e

15¢)— 15¢]— 15¢i— 15¢l—]
10¢i— 10cl— 10¢t— 10ci—
Scl— Scl — Scl— Sel —
ocl — 0cl - Ocl = Ocl —

59 ... 0 10> ............ 5

15> ...l 10 202 ............ 15
352> ... 30 30 ............ 25
659 ............ 60 60=> ............ 55
952> ............ 90 0> ............ 85
25 ... 20 80> ............ 75



39-2=

f3-2=

134 — 21

759 — 23

56 + 20 ;

78 + 20 ;

136 + 20

435 -20 ;

581 -20;

793 -20 ;

9x10=_.

15x10 =

27 x10=

83x10=

30 x5=_,

72x10=

| 80

90

150

270

830

300

720

1490

350




